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COMMON HALF YEARLY Mmmi:. o
T Standard - VII Marks: 100
e 2.30 hrs. MATHS
1 PART -1 5x1=5
* Choose the correct answer:
- L] L | d -5
) 0 and TS b)-1and 0 c)-1 and -2 d) -4 and
2. The squar;: of 43 ends with the digit _——— g
alg b‘l 6 :] | d}
3. a% 4 p? = (a4b)’®
' a+b)
a)3a(a+b) . b)3ab(ab)  c)-3ab(a+h) ﬂrs:::-:t:;e is
4. Afruit vendor sells fruits for 2 200 garming T40. HIS gain p®
d) 16 2o,
a) 20% b) 22% ¢) 25% 3
ins once?
5. How many outcomes can you get when you t0sS three O :} :
a) 6 b) 8 ¢)3
5x1=5
I1. Say True or False:
6. All rational numbers have an additive inverse.
7. Acube has 3 faces.
B. 8x3y + 4x? = 2xy
9. Depreciation value Is calculated by the formula P(1 - r/100f
10. 8, 15, 17 is a pythagorean triplet.
IIL. Match the followings: ax1=4
R
i, LT ] - art
. _..'__ i S I
12. 1 \ . (x4 -
| W ___({;
13. Area of a circle - Cuboid
14. Circumference of a semicircle - Cylinder
PART =11
10x2=20

1v. Answer any ten of the followings: :

-3 -2
15. Find atleast two rational numbers belween g and c -
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2 LLLRE R

F M
16. Em .J-r, T
iz S——

18. Fing mlﬂnrrm!ﬂﬁﬂﬂ'mﬂh“ = &g, r= 10N
19. A& gupie of radis IZ'Il"""'I|=|'"'""-"$""'"“Ei";"""'HJ MTIOR Fang the length OE e oy
each of the soCT0TS.
S0 Eapang -Zp(Sot.- 30+ 7) -
2¢. Find the product of (v 3} (2= - 4
= 22 Duede . (Juy)s bv Sy
21 Expand : (usd)?
a4, Factorgze ' w® « gx » 1§
45 If »3% of 600 15 450, ghen find I vaiue of »
26 "lﬂlﬂ'ﬂ'ﬂﬂdfﬂ'mwlhmmtmi""- 4 pree e fnd L Cost price
27. Find the value of 2 anc y In Ine followang FGure, :.l_j !
i, ot o
78" Chech whether given sides are the s008 ot nghe - Ngied thang es, NG Pyt
thearem.

PART =111

V. Answer any 10 of the followings : 10=5=50
9. Arrange the follomng ratonal numbers iN 83Cending Bnd descend ng Of Jef

-5 -11 -15 -7 1

- ]I. '_'_5._Jg|+.:-15- 2'?|
30. Simphfy 2 | 377 21T 3 12/ | 9 16

J1 Find the sguare root by long dvisicnmenod - 110205

S
32. Evaluate : J}%

33, Find the area of an rregulor polygen Neld whose mazsures 3re Qiven

E -_""'--_ i
8- ¢ T
_‘-"—__" & = Bm x pm s #m
~. & - o -
o=
|
|
B
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3 .y
pand 4 ared

34 lmd*mhnhmﬁ“#“"‘ o ll“

— | ?.P‘ E'L'l'l ¥
e 18 L
2ok M [~ s
o |ﬂ = 5

' - Iq',..lllhl

bl
gt U Al {iﬂﬂ*lr‘ (ne2). I8 -11 00 (s .3y
Fingd the woiurme of the cubod mnoss

R e g e If 37 & SuDUAEG tror

33 A Numbes condes™s of two digds whose 30m 5 9, - the
OV yRal purmber, 1% AigIS ane e anged Fﬂﬂﬂﬂ'ﬂ““m'“‘.":im

1 ltﬂ*--qlmiutrmﬂh}ﬂmumﬂlldiﬁ“:ﬂ1 .Tore
FOw Migny DS Can De ade n L8 dayh vSIG 24 mach

40 A and Bupgeihed Can 00 & Drete of mogew in 16 days and A alonE CENEI Lm dicyy
Fuw hang well B Lase 13 compiete the work?

a1 ﬂlﬂ?eﬁu:dﬂlun!lilﬂﬂ.uplrhpqnlﬂlﬁhﬂm“m o |
1% e Bane of The ladder from e sall?

4] Unng resedts3 diiwon method, fing the HCF of the loilcwing 184, 233 ana 278

HER

PART - IV
v1. Answer the following questons: Bad=l6
41 a) Constnuct o guad:iaters NICE mitn NI - 4 Germ, 1C = 4 30m, NE = 3 Sem
NC = § Scm and IE = Som Ao fing &S area
(OR)
b} Condrct the fuluwhig paraliclograms with the given meeasyremanty pnd g
treir area CAME CA = 6cm, AP = oo and CP = 5 5Cm
. 3 Damthegltagh of y = 6
[OR)
o) Dram the graphof y = n=]
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